Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester —II Remedial Examination December - 2010

Subject code:320026 Subject Name: Surveying
Date: 14 /12 /2010 Time: 10.30 am — 01.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (a) Explain basic principles of surveying with sketch.
(b) Construct a diagonal scale 1°™ =5 ™. Represent 35.7 mt length on the scale
(c) Draw a figure of standard Metric chain along with handle, links and tellies.
Q.2
(a) Explain Base line, Tie line and check line.
(b) What are different errors in chaining? Discuss sources of errors in chaining.
(c) A 20 mt. chain was found to be 8 cm too long after chaining a distance of 1600
mt. It was found to be 15 cm too long at the end of one day’s work after
chaining the total distance of 3500 mt. Find the true distance if chain was
correct before commencement of work.
OR
(c) Give step by step procedure of Reciprocal Ranging.
Q.3
(a) Differentiate :
(1) Whole Circle bearing and Reduced bearing.
(2) Prismatic compass and surveyor’s compass.
(b) The following bearings were observed with a compass. Calculate the interior
angles of closed traverse.
Line Fore Bearing
AB 60”00
BC 140° 52
CD 269°30
DA 20" 10
OR
Q.3 (a) Convert the following Whole circle Bearings into Reduced Bearings.
(1) 20° 30 (2) 285°35
(3)230°32 4) 120°25
(b) Draw neat sketch of prismatic compass. Label its component parts.
(¢) What do you mean by “ closing error of traverse’” ? Explain graphical
adjustment of it.
Q.4
(@) Write the process for temporary adjustment of Dumpy Level.
(b)  The following consecutive readings were taken with a dumpy Level and 4.0 mt.

leveling staff on continuously sloping ground at a Common interval of 30.0 mt.

0.58,0.95,1.95,2.87,3.70, 3.98, 0.92, 1.35, 1.68, 3.45.
First reading was taken on B.M. Take B.M = 100 mt.
(1) Prepare Page of level book.
(2) Calculate R.L of all points by rise and fall method.
(3) Apply usual Arithmetical check.
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Q.4 (a)

(b)
(c)

Q.5
(a)
(b)
(c)
Q5 (a)
(b)
(c)
UH-1
Ys-2
Us-3

Define:
(1) Bench mark. (2) Line of collimination.
(3) Reduced level.
Draw contours of the following:-
(1) Hills (2) Lake  (3) Over hanging cliff (4) Ridge line
Claculate RL of all points. Apply usual checks.

Station BS IS FS HI RL | Remark
1 2.15 50.00 On BM
2 1.50
3 1.25
4 0.80 2.60 Change Point
5 2.35
6 3.90

Write short note on Simpson’s Rule.
Give advantages and disadvantages of plane table surveying.
The following readings were obtained by planimeter when a figure was
traversed clock wise with anchor point out side. The zero of counting disc
passed the fixed index mark once in the clock wise direction. Take M = 100 sq
cm.

Initial Reading = 8.489

Final Reading =1.828
Calculate the area of figure.

OR
How will you find the area of irregular figure with help of planimeter?
State different methods of plane tabling. Explain any one in detail.
From a chain line offsets are taken to an irregular boundary at a regular internal
of 20 mt. Find out area between survey line and boundary using simpson’s rule.
Chain 0 20 40 60 80 100 | 120

Offset | 0.00 | 1.20 | 2.70 | 3.90 | 2.50 | 1.00 | 0.00
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